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Directions : (Q. 11-16) Select the one which is different
from the other three responses.

PART - A

INTELLIGENCE AND REASONING

RESPONSIBLE 'KHMOD

: CLARIFICATTION.: ?

o SENSITIVE : USRD :

Directions : (Q. 1-9) Select the related letters/word/ M e anonker th Tabls Tenmiy
number/figure from the given alternatives. (¢) Badminton (d) Billiards
11. (a) PQ (b) AU
{¢) CD (d) RB
Joo L L. 9 12. (a) CPBO (b) BODQ
(¢) ANHU (d) ESGT
13. (a) BFINRV (b) CGKOSW
Joo . i E . (¢) DHLPTX (d) EIMPSW
/X ) 4. (a) 81 (b) 8
(a) (b ) (@ (c) 16 i o2a
15. (a) 57612 (b) 61193
TRADE : UQBCF : : PLATE : ? {c)y 198 -11 (d). 824 —.14
(a) QMBUF (b) QKBSF
(¢) QKBUF (d) QMZUD
4215617219 ke % E\’ E’
(a) 90 (b) 92 ° ©
() 100 @ 51 (a) (b) (c) (d)
6:18::4:7 Directions : (Q. 17 and 18) These questions are based on
(a) 12 (b)ml16 the following coding pattern : 'EFGHIJK' are coded letters
() 2 ) 6 representing 'VUTSRQOP'. Choose the right code for the

words given in capital letters from the answer choices given

under each.

17. LIMIT
(a) KSEBSN (b) MHZHHZ
KNRNC b) ORNRG
(¢) NSBEQK (d) PUDGSM (a) ®)
JKOKG d) RSTSG
COUNSEL : BITIRAK : : GUIDANCE : ? ) )
18. POCKET
(a) FPHZZKAB (b) HOHYBIBA
KLXPUC b) KLXPVG
(¢) ECHYZKBB (d) FOHYZIBB @) ®)
KNOB : DOOR : - (¢c) KLXGUP (d) KILXVPG
(a) RING:EAR (b) BELT: TROUSERS 19. How many such 5's are there in the following number
a i ;

(¢) NOSE:FACE
Fast : Hunger : : Race : 7
(a) Smartness

(¢) Horse

(d) NECKLACE : NECK

(b)
(d)

Strength
Fatigue

Antonym : Synonym : : Analysis : ?

sequence each of which is immediately preceded by

3 or 5 but not immediately followed by 8 or 9 7
35954553584567357554523510

{a) Three
{c) Five

(b) Four
(d) None of these

200 D-23,F-21,H-19,7-17,7?
(a) Synthesis (b) Synchronize (a) K18 (b) M- 18
(¢) Simplify (d) Summarise (c) 0-21 (d) L-15

v WA N LWL N
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90T - A

| Ffeg Ta Aok
fder-(woq 19 9)a% ¥, Taw ™ fawen ¥ @
TrfE SR /9Teg /AT ® FTu-

A

(a) (b) () ()

2. TRADE:UQBCF::PLATE : 7

{a) QMBUF (b) QKBSF

(¢) QKBUF (d) QMZUD
3. H2:in0 Y207

{a) 90 (b) 92

{c) 100 (d) 51
4. 6:18::4:7

{a) 12 by 16

(c) 2 (d) 6

5. RESPONSIBLE : KHMODY: SENSITIVE : USRD :
: CLARTFICATION »?

(2) KSEBSN (b) MIZITIZ

(¢) NSBEQK (d) PUDGSM
6. COUNSEL : BITIRAK :: GUIDANCE : ?

(a) TPHZZKAB (b) HOHYBIBA

(¢) EOHYZKBB
7. KNOB:DOOR::
(a) RING:EAR (b) BELT: TROUSERS
(¢) NOSE :FACE (d) NECKLACE : NECK

3. TUNE : WE : : E : 7

(d) FOHYZIBB

TE9T-(U99 119 16 T%R) SW AT W 39 @9 fasheat
LREC

10. (a) ¥HL (b) 2faer 2=
(c) SsfHe (@) faferse
11. (a) PQ (b) AU
(c) CD (d) RB
12. (a) CPBO (b) BODQ
(¢) ANHU (d) ESGT
13. (a) BFINRV (b) CGKOSW
(¢) DHLPTX (d) EIMPSW
14. (a) 81 (b) 8
(c) 16 (d) 625
15. (a) 57612 (b) 611.-"13
(c) 198 — 11 (R824 12

I I

(a) (b) (©) (d)

ﬁﬁ;ﬂ—cwe‘rr 17 T& 18) W& Wou frefeian Wik
75T W eiE . 39eR 'EFGHIIK' & oo aisfas
R "VUTSRQP' 2. Weleh Wodl ¥ f3U 7w v1sg 1 1S

AL
17. LIMIT
(a) KNRNC (b) ORNRG
(c) JKOKG (d) RSTSG
18. POCKET
(a) KLXPUC (b) KLXPVG
(¢) KLXGUP (d) KLXVPG

19. Treifetem s St oty fbad 5 €, e o v
% S TBE 3 A 4 B, TG IH AR H § A9 A
717
35054553584567357554523510

(a) =g (b) dmmd (a) g (b) =R
(c) =T (d) == () = (d) 3T W B T
9. fawits (faetm) : wommed (k) @ fawemomr @ 2 o D23 F_20.H_19.7_17,2
(a) TEeISOT (b) wHF e (a) K—18 (b) M—18
(¢) Tl HE (d) Hemor (Hiera ST (c) O-21 (@) L-15
% g W N L W, \
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Directions

: (Q. 21-22) From the four logical diagrams,

select the one which best illustrates the relationship among
the three given classes in the questions.

21.
00
23,

24.

25.

26.

27.

28.

25

©, G & &

(a) (b) () ()
Birds, fruits, mangoes

Criminals, lawyers, bandits

If in a code language PUTREFY' is written as
'XPQSTRL' and 'WNAVIGATE' 1s written as
'GYMOWYQT', how is 'AVIARY' written in that
language ?

(a) YOMYLS (b) YMOYLS

(c¢) YMOYSL (d) YOMYSL

In a queue of boys, Mahesh 1s at 10th place from
right side and Suresh at 10th place from left side. If
both change their places mutually, Suresh comes at
27th place from left side. What would be the place of
Mahesh from right side ?

(a) 25th (b) 29th

(c) 26th (d) 10th

In some code language, STATION is written as
URCRKMP. How can BRING be writtengh the. same
code language 7

(a) DSKPH (b DTKLH

(c) DSGLH () ADPKLI

Select the wdrd which, cannet be formed by taking
letters from the word TADULTERATION'-

(a) RELATION (b) RETURN

(¢) RETAIL (d) TOILET

Select the world which cannot be formed by taking
letters from the word 'CARPENTER'-

(a) CARPET (b) PAINTER

(c¢) REPENT (d) NECTAR

Rohit 1s seventeenth from the left end of a row of 29
boys and Karan 1s seventeenth from the right end of
the same row. How many boys are there between
them in the row ?

(a) 5 (b) 4
(¢) 6 (d) 3
Ajay ranked sixteenth from the top and twenty-ninth
from the bottom among those who passed the

examination. Six boys did not participate in the
completion and five failed in it. How many boys were

there 1n the class ?

{ay 44 (b) 350
(c) 40 (d) 55
Directions : (Q. 30-34) In each of the following

questions, numbers are arranged in a particular pattern.

Such of the series has a blank space. Choose the missing

number from the given alternatives and mark its letter

on your answer sheet.

30.

31.

S0k

33,

34

35,

36.

37.

Wi N LW N

6 18 T8l Bremsscenn.

(ay 111 (b) 222

(c) 122 (d) 333

0; 2; 3; 5, 8, 10, 15, 17, 24 265 woomm
{ay 28 (b) 30

() 32 (d) 35

215 235, 34 50 o 111, 168

(a) 86 (b). 72

(c) 75 (d) 359

6,4, l2GEWlE. 188 3 .

(a) 224 (b) 16

(¢) .8 (d) 6

5.5 17, 29, 45, 655 vrmanin:

{ay 83 (b) 85

{c) 87 (d) 89

Which one set of letters when sequentially placed at

the gaps in the given letter series shall complete it ?
a_aabb_ ab b

{a) baaaa (b) babab

{c) baaba (d) bbaaa

Which one of the given responses would be a

meaningful order of the following words ?

1. Grand father 2. Great grand father
3. Grand son 4. Son

5. Father

(ay 3 4 5 1 2

b4 1 3 5 2

{(cy 1 2 3 4 5

@2 3 1 5 4

If the day before yesterday was Friday, what day will
two days after the day after tomorrow be 7

(b) Thursday
(d) Sunday

{a) Saturday
{c¢) Friday
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Trder-(weT 21 % 22 9) 7o TOF | 1 v U T
¥, SeRt 7T ST E T e faw ww fas § & wieer
forr = vl W we-wifn welle wwar €,

©, G & &

(a) (b) © @

(a) 44
(c) 40

(b) 50
(d) 55

THETT-(We1 30 | 34 7o) Fefaiaa g g o weett
W TR favw e o watem e T R e
ot F Tt TonT W e W T €. St ¥ faer
e ® Frefafan fredt ¥ SAET TER SeRiw

21, wal, W, T w A STR-uike § fofga Wit

2. sl T, = 30. 6, 13, 28, 59...........

23 & Uk we Wen § 'PUTREFY feen smar 2 (@ M by 222
'XPQSTRL' #1T NAVIGATE' famn wrar @ (@ k22 W s
GYMOWYQT, 3 38 %2 o1 § 'AVIARY g 31 0. 23,5, 8,10, 15,17, 24,26, o
T e ST (a) 28 (b) 30
(@) YOMYLS (&) YMOYLS (¢) 32 (d) 35
(© YMOYSL (d) YOMYSL 32. 21,25, 34, 50 . 111, 160

24. TISH i UH Ufad H T IET SR H 108 WH W (a) 86 (hyaTe
2 S W 9 #7109 T W R, S AR #AR (c) 75 (dy 59
I T IF 95 od ©, O GO AEt S W 279 33, 6, 4, 12, S.ASN2 0N
B ST B, TR HT I SR W B T T (a) 24 (b) 16
(a) 251 (b) 29T (©)\ 8 @ 6
(c) 26a @ 109t 3de. 5,907,729, 45, 65, ...........

25, fweht wisfas oo F STATION %1 URERKMP. @ (a) 83 (b) 85
T F forn ST €, @ % Ao HBRING ST fBw (c) 87 (d) 89
w9 o femen smm? 35. ST W1 B WHE Tl A T HEAN T o
(a) DSKPH (b) ‘DIKLH TE &R AT 1 0 SO 7
{¢) DSGLH (dy BPKLI a aabb ab b

26. ¥R 'ADULTBRATION % 1R & fr=fafea & @ (a) baaaa (b) babab
e o= =t T e 8wkl 82 (c) baaba (d) bbaaa
(a) RELATION (b) RETURN 36. et =R fombedi o W FEn foshey = faw T greaf
(¢) RETAIL (d) TOILET =7 TEiF FH T ?

27. ¥R 'CARPENTER' & e § frfafea F @ fog | e S -

IR H T e Tl g? 5 i
(a) CARPET (b) PAINTER
(¢) REPENT (d) NECTAR 5. e

28. 29 Wi Wt uhe |, difed G BR ¥ 179 WH W @z % 2 1 8
HAR HIO T B Y 179 T W T, ot ° 37 ] @4 1 2 3 &
= AT HE m ¥ (c) 1 2 3 4 5
@ 5 ) 4 @2 3 1 5 4
(c) 6 d) 3 37. AfR ¥id we ¥ et f&T yERAR o, @ oTH A fiA

29, it el e F el gy, T i o W 169 # ol fed ® < fA o i far g
T T AR A= W 209 WA W R, 6 TTgh] 7 TET OB LRELS (b) TEER
GEL DY

% "B /A BE /A
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38. A statement is given followed by two conclusions I 43, Arrangement the following in a logical order.
and II. You have to consider the statement to be true 1
even if it seem s to be at variance from commonly

Open Text book 2. Attend Assembly

known facts. You have to decide which of the given 3. Catch Bus 4. Wear Uniform
conclusions, if any, follows from the given statement. 5. Get into classroom

Statement : Tension is detrimental to physical and () 4,2,3,5, 1 ) 4,3, 5, 1,2
mental health.

Conclusions : (¢) 43,251 (4) 4,35 15, 2

[.  To be healthy one should be free from tension. Directions : (Q. 44-45) Find the missing number.

II. Mental health depends upon the tension one

experiences. Fl1
(a) Only I follows D M
(b) Only II follows 44, 4 2
(¢) Neither I nor II follows 6] 9
(d) Both I and II follow
39. Two statements are given followed by four conclusions (a) 10 (b) 13

I, II, III and IV. You have to consider the two
statements to be true even if they seem to be at variance
from commonly known facts. You have to decide
which of the given conclusions, if any, follow from

the given statements. 45. Aq%
Statements : v V
1. Some skirts are benches. db

2.  No bence 1s table.

Conclusions .: @ 3 ®) 7

I. Some skirts are tables.

II. Some benches, are skirts. (e) 2 (d) 1

I1I. All benches are skirts. 46. A giri introduced a body as the son of the daughter of
IV. Sorme'tables are skirts. the father of her uncle. The boy 1s girl's ?

(a) Only I follows (a) Uncle (b) Nephew

(b) Only II follows (¢) Son (d) Brother

(¢) Only IT and TV follows
(d) Only I and 11T follows

40. There are five houses A, B, C, D, in a row. A is right
side of b and left side of C. O 1s the nght side of A. B

47. A man is facing Northwest. He turns 90 degrees in
the clockwise direction and then 135 degrees in the

anti-clockwise direction. Which direction is he facing

is right of D. Which house i in the middle ? now 7
(a) O (b) A {a) West (b) South-West
(c) B (dy D {¢) North-East (d) South-East
41. IfC =3 and CAT = 24, what is FAULT ? 48. Count the numbers of triangles in the following figure—
(a) 60 (b) 57
(c) 64 (d) 72
42, Find out a set of number amongst the four sets of
numbers given in the alternatives, which is most like
the set given in the question.
(14, 20, 3)
(a) (7,13, 3) () (5, 10, 15) Co (b) 23
(c) (3,6,9) (d) (4, 8, 16) {c) 29 (d) 31

q!&é-! g ..‘ 1&“‘1 Miven answer figures select the one in which
reMINSTITUTE
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38, e WH weM ® o0 S T 1T I T E S 43, freafafed e e HHMEE WEd e

Rl o e i L B e A T 2o 1. g e
TEAET, W WES B B AW o9 H 5 R M > wed me o Sufed e
ﬁﬁﬁsﬁ;@fﬁw,w&:ﬁé 7, f{w T wem 9 3w T
HYT : T TN 9 AEfes wRem % fag ji:?;t(fﬁ)w
e 2 2. (a) 4,2 3,51 (b) 4,3,5,1,2
foa (c) 43,25 1 () 4,3, 1,52
L A L i S R LR O e e
II. OHfes @ =Afa g s1va fee o o T,
W el w2
(a) el 1 Tisherar © F|I
(b) el II fsberar # D M
(¢) 7 137 7 II foeberar 2 44. 4 ?
(d) 13 11=AF Freem © 6] 9
39. A= < el @ e =R fred LI e v faw @ 10 S5
2. o9 w9 aeAt | o g W ot ST e (c) 12 (d) 14
i ISR, WA WO HL HL A9 a9 e fRw
fogl § @ wFw, Ak w8 @, ke w weR @
e A /R
222 & B
| mpAR AR E 2w o A A mg
e b
I %9 o0 o9 €. ol %9 39 5 T Ez))g Edg?
1. it <= aeR @ WV w S s 46, T TEE A T TS F AT, A T
(a) ey Tfiihere] W siwd B faar B A9 w1 A 2, A° TIH
(b) Haa 11 e ¢ FEH T A @ 2
(¢) e 113 1V favera & (@) s (by s
(d) Ha Iaﬁt I1I freher <. (c) Far )
40 Qz‘qﬁﬁgqﬁﬂ;&{%g,noﬁ&g@mﬁ? 47. TE =R IR-UTEE ® AR Ue wE @ 5 9%
;W’O’A ;;?’B’D e oo° Tfemad frem ¥ HE@ 3. TER AR 9@ 135°
S ST TR feen o wEar €. W a9 e w5 o
(a) O (b) A . )
i) B @ D e w3 Tg 87
41. =f§ C =33 CAT =24, 9 FAULT =1 87 ORLLE OB
(a) 60 ®) 57 (c) -1 (d) sfemr-ud
(c) 64 (d) 72 48. TreAfafem segfa o fausi &1 Hem o i
42. I Tosbedl § WR GeA-w=m f{u T ¥, = W
IW HEA-EEE W WeEW S wed Hofaw M
W= ¥ #fy®ad Hd @ gl
(14, 20, 3)
(&) (7.13,3) (b) (5, 10, 15)
(a) 27 (b) 23
(c) (3.6, 9 (d) (4, 8, 16) o i 50
% "B /A HE /A
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the question figure is hidden / embedded.

Question Figure :

v

Answer Figures :

(a) (b (c) (d)

50. Which answer figure will complete the pattern in the
question figure ?

JI
(a) (b (©) (d)

PART-B

GENERAL AWARENESS

51. 'Thooming' agriculture of North-East India is called
TLadang' in Malaysia and Masole' in the valley of Zaire.
Then, which of the following is called JThooming
agriculture ?

(a) Shifting Agriculture

(b) Mixed Agriculture

(¢) Transplanting Agriculture
(d) Livelihood Agriculture

52. Which of the following is the dominant probability of
formation of the fog ?

(a) Dry cool current blows over warm current
(b) Warm air with moisture blows over cool current
(¢) Dry and cool air blows over cool current

(d) Warm current with moisture blows over warm
current

1‘7:;!
rad

3%

54.

55.

56.

24/

58.

Wi N LW N

In which region does rainfall occur throughout the

vear 7
{a) Mediterranean (b) Equatorial
{¢) Tropical (d) Temperate

Name the food crop which gives highest output in
India—

{a) Wheat
{c) Maize

(b) Jowar
(d) Rice
The Zoji-La pass connects—
{a) Srnagar and Leh
{(b) Arunachal Pradesh and Tibet
{¢) Chamba and Spiti
{d) Kalimpong and Lhasa
In West Bengal, Ranjgan] 18 associated with—
{a) Coalfields (b)" Iren ore
{c). dManganese ore (d) Copper
Match the, following—
Column I
{a) Mahatma Gandhi
{b) Ram Manohar Lohiva
{¢) Dr Rajendra Prasad
{d) Maulana Abul Kalam
Column II

1. India divided

2. India wins Freedom
3. Hind Swaraj
4. The Wheels of History
(@) (b) () (D
(ay 1 2 4 3
2 3 1 4
(¢35 1 2 4
3 4 1 2

Who of the following did not win Gold medal in
commonwealth boxing Championship in Delhi in

March 2010 ?
{a) Suranjoy Singh (b) Harpreet Singh

{¢) Jai Bhagwan (d) Amandeep singh
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40 & T TW TERfaAl § W SH IW ARG B g 53, W wew A 9wt awt e 2?

ot e sl Fife 2. (@) T () Fr
T S (¢) ToEfaaf (d) T
54, SH T WE 1 AW FAEE | 9RG ° e Aty
w EEEICI
() T (b) R
. (c) HIFHT (d) =
el 55, SSi-= @ S B
(a) #IR 3R o *
(b) STEUTHE Wowl 37N famaa &
@ ) © @ R
(d) T I wem™ i
50, T TW S WA SN B ORET W OW g orm do o o, e
RAL (a) e &R (b) ®e 7w o
d o (c) HHS § (d) =+ o
53, |t 1 fremr ¢
-1
" (a) TETE MRl
A | (b) T TR e
Y Y, 15 (c) Bt T TER
(a) ) (c) ) (d) HETFT A e
TEt-11
9T - B 1. sfo=an feamfes
T SR 2. Sl T sl
51. SOC-qd WG ® ‘g, welfvEn # 'emi s W 3. fex v
# WE A OEE ¥ e vs T € 4. f& =ew A% et
(a) TAFIGU T (Shifting Agriculture) 1 () () () (d)
(b) Tafara T (Mixed Agriculture) &1 @1 2 4 3
{c) T H (Transplanting Agriculture) Ea) ® 2 3 1 4
(d) Sifaest T (Livelihood Agriculture) %t ©3 1 2 4
52. WG I B RIS B Fa el 87 @3 4 1 2
(a) T R T I IV AW FEd © 58, T 2010 ¥, freelt o oo SioEcy A
(b) Bt UM R T T T wl Sedt © wieefimar o frefafem § 9 fee @l o5 ww
(¢) BUE U W [F S T wed & el feen?
(d) ™ um o T A e A AR © (a) § foe (b) Toda foe
(c) & WEN (d) s foe

% d W, Nt . \
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59.

60,

61.

62.

63,

64.

65.

66.

67.

Who wrote the 'Communist manifesto'? 68.

(a) Lenin

(¢) Stalin

(b) Karl Marx

(d) None of the above
Maria Montessori's name is associated with—
(a) Women's Rights
(¢) Christian Mission (d) Mission Hospitals
Which of the following states have only one

representatives each in Lok Sabha : 70.

(a) Manmipur, Meghalaya

(b) Himachal Pradesh, Jammu and Kashmir
(¢) Arunachal Pradesh, Tripura

(d) Mizoram, Nagaland

"Boston Tea Party' 1s associated with— 71.

(a) French Revolution

(b) Russian Revolution

(¢) American Independence

(d) Independence of Egypt

Which of the following is a direct tax 7

(b) Sales Tax

(d) None of the above

(a) Excise

(¢) Income tax

Who expounded "The Theory of Drain" ? 72.

(a) Tilak
(¢) Gokhalg:

(b) Dadabhai Nauroji
(d). Govinda Ranade

The last Govemor-General of the East India Company
and the first ‘Wieeroy under the crown was—

(a) Lord Elgin 73

(b) Lord Canning
(¢) Lord Warren Hastings

(d) Lord Dalhousie 74

Arising Per Capita Income will indicate abetter welfare
if it 1s accompanied by—

(a) Unchanged Income distribution overall
(b) Changed Income distribution in favour of rich
(¢) Changed Income distribution in favour of poor

(d) Changed Income distribution in favour of
Industrial Labour

76.

Indirect taxes by nature are—
(a) Degressive (b) Regressive

(¢) Progressive (d) Proportional

E

(b) Child Education 69.

Wi N LW N

Which one of the following is an example of optional

money ?
{a) Currency note (b) Coins
{¢) Cheque (d) Bond

Which of the following diseases spreads due to virus?
{a) Diphtheria (b) Influenza
{¢) Typhoid (d) Cholera

Select the macro plant nutrients—

I.  Phosphorus II. TIron

IT1. Carbon IV. Nitrogen

{a) Tand IV (b) L 10, 111

{c) I, IIL, 1V (d) All of the above

A car engine coolant performs whichiof the following
functions ?

1. Raises the boiling peint of water

2.  Lowers' the freezing point of water

3.« Reduces rusting tendency

4 . Lubrieates the water pump

{a)-1,23 (b) 1,3, 4

{(c) 1 &3 only (d) 1,2, 3, 4

The chief poisonous snakes in India are —

{a) See snake, pit viper, krait, cobra, rat-snake
{(b) Russels viper, pit viper, cobra, krait, sea-snake
{c) Python, pit viper, russel's viper, cobra, krait
{d) Cobra, krait, wolf-snake, python

Which 1s not an insectivorous plant ?

(b) Bladderwort

(d) Hornwort

{a) Pitcher plant
{¢) Butterwort
Tungska Fireball explosion took place in—
(ay 1908 (b) 1908

(c) 1945 (d) None of these

Directions of the currents of which of the following
oceans change twice annually ?

{a) Pacific ocean (b) Atlantic ocean

{¢) Indian ocean (d) Arctic ocean

Which of the following diseases is caused by the fishes
polluted by industrial wastage mixed with mercury 7
(a) Bronchitis (b) Bright disease

{¢) Minimeta disease (d) Hashimota disease
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59, HEfTe e fee foen? 68. fr=fafem § o & T dHfcus 99 &7 /@
(2) AT (b) @ TR T2
(c) e (d) = F ¥ FE T (a) FTH A (b) o
60. T TR FT AW TS E- (c) % (d) d (3S)
P T T 69.ﬁmﬁﬁ§aﬁﬁﬁﬂﬁré\mﬁwﬁﬁaﬁ%‘?
(c) frved fem & (d) foee sroraet 9§ Ea)) EZ; ﬁ?m[ %
" 5 c) ZRMIES
o Wéw@”iij“; Rl A TP S S T
wHifw-
OBl I. HERRH II. =@t
(b) TeuTer WRw, W SN HYHR it i ¥ e
(c) wreum=el wew, fogu (2) Tand IV (b) L I, III
(@) fasirm, TS (¢) LIIL IV @) # wit
62. 'Boston Tea Party fmfafed o @ feoe w@fe@ 71, %R0 %1 vidas (Coolant)ﬁlﬂ'%l‘ﬁ@ﬁﬁ@aﬁw
7? T I 2
{a) French Revolution 1. v % Wﬂ'lﬂ? EQl EEl 2.
(b) Russian Revolution 2. e ® feniE HLEE I B
{¢) American Independence @ Y 5 e i} e
() ndegsndeniss of S 4. =\=TTT B HiEe {Lubricates) =idl 2.
63ﬁm|%’l'ﬁ@ﬂﬁ@m@waaﬂ%7 (a) 1,23 (b) 1,3, 4
(a) IUEA IEH (b) fosmt =% (¢) 174 3 (d) 1,2, 3,4
(c) ST (ST B ° BEE 72, 9N % THE Sedd Wl e
64. 27 & fagM (TheiTheory of Prain) fHe wfamfsa (a) W-Th, fI2 aEw, %, ®, BT
foran en? (b) Wew AT, fiz arw, ®EU, %2, @W-Ta6
(a) faers (b) TRTHE A (¢) TR, T2 AETW, Wew AR, FEE, H2
(¢) et (d) TifsR TR (d) HE, %2, ITH-TH, TR
65. St Tfre HUET BT SEAT TEET SEREr SR s 3. [eated ¥ ¥ mEe wmiewed g T 22
% i Ten T - (a) foremretiz (b) =T
(a) @ Tem (b) wiE Sf (c) " (d) T2
(¢) i€ oA S (d) @ SRt 74. g wPR St A= w7 faen g e
66, TEH TE W R AT TR e FE F TE (a) 1908 H (b) 1908 H
et afs swe w A (c) 1945 (d) 5 T
(a) T T Y omfEfid o 75. frefafen 5 ¥ foa qemmR § 9emriE awst
(b) A % vy o ufafda smr faawm mqﬁaﬁqaﬁﬁawm%?
(¢) T ® 7w § ufiEfdd e fa Ei)) ;W%T Ez; ﬁﬁ
@ Mzﬁqéﬁqﬁaﬁﬁmw 76. RI AT T SIS wER B SN WeHa gefedl
67. T W AT FL T T TE Y TR 9T O
(a) WEEEA SR (b) HF BEAT (a) et =wfa=r AT (b) L HT AW
(c) A THAH (d) woTIHfaes (¢) foeframn T (d) e T
% d W, N L W, \
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78.

i

0.

81,

82.

83.

84.

Which of the following statements is incorrect about
mangrove forests ?

(a) Wood of sundari trees is used as fuel and to make
boats

(b) During high tides, roots of sundari trees should
be submerged in salty water

(¢) Sundari trees grow in lower littoral area
(d) Wood of sundari trees is ideal for pulp making

Who among the following biclogists used the statement
'‘Survival of the fittest' for the first time in his book,

"Principles of Biology' ?
(a) Charles Darwin (b) Jagdish Chandra Bose
(d) Richard Licke

What age-limit has been fixed for child-artists by the
National Children-rights Protection Commission ?

(b) 10 years
(d) 12 years

The Parliament and the Constitution are the instruments
of—

(¢) Herbert Spencer

(a) 14 years
(¢) 18 years

(a) Legal Justice (b) Political Justice

(¢) Economic Justice (d) Social Justice

The Council of Ministers is collectively responsibleto
the —

(a) President (b) Prime-Minister

(¢) Lok Sabha (d). Rajya Sabha

Under single transferablesote system each voter can—
(a) Indicate enly two preferences

(b) Indicate only one preference

(¢) Indicate one preference less than the seats to be
filled up

(d) Indicate as many preferences as there are
candidates to be elected

'Zero Hour' in the working of he Indian Parliament
means—

(a) Hour before the Question Hour

(b) The first Hour of the Session

(¢) Interval between Question Hour and next Agenda
(d) When Privilege Motion is accepted

In which year the "House of the People" was named
as "Lok Sabha" ?

(a) 1954
(c) 1974

(b) 1964
(d) 1984

E

85.

86.

87.

38.

89,

90"

91.

92.

93,

94,

Wi N LW N

A body absorbs heat most 1f it 15—
{a) Black and rough (b) Black and smooth
{¢) White and rough (d) White and smooth

Which one of the following appointments is not within
the purview of the President of India ?

{a) Chief Justice of India

{(b) Chairman, Finance Commission
{c) Chief of Army Staff

{d) Speaker of Lok Sabha

Which of the following relieves pain ?
{a) Antibiotics (b) Analgesic
{c) Antipyretic (d) Disinfectant

Tivaka, mentioned in the early Buddhist literature was—
{a) Bodhisatva (b) King

{¢) Merchant (d)" Physician
Kautilva's‘Arthashastrasis a great treatise on—
{a), Economie Policies (b) Statecraft

{c) Interstate Relations (d) Ethics

Heavy water project, Talcher and Paradeep fertilizer
plant are famous industries of —

{a) Orissa (b) Tamil Nadu
{c) Andhra Pradesh  (d) Kerala

Which of the following does not have a common
boundary with Bangladesh ?

{a) Meghalaya

{(b) Mizoram

{c) Arunachal Pradesh
{d) Tripura

Name of the author of the book "The future of India :
Politics, Economics and Government"—

{a) Bimal Jalan (b) Deepak Chopra

{c) Anurag Mathur (d) Amitav Ghosh
Shivaji's war strategy used against the Mughals was—
{a) alert army (b) political supremacy
{c) large army (d) guerilla warfare
Pack animal of Peru is —
{a) Camel

{c) Lama

(b) Yak
(d) Ibex
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77. SR STl % fave 6, T W S B e €7 85, hiE 4TS SO T WE9 A(HH SR Hd €, 5
(a) TRH U H TS H SHA, T AW W B I -
w1 H e R (a) TN SR BT (b) FE ST HGT
(b) % SR % <RM, YA Ul H W B @R S (c) VT AR BEI  (d) WL IR HGT
H 341 31 Afeq 86. frfafed & o =md fafa wwa & wgdfa =
(c) T dzadl frer &6 §, gl iy o ¥ SR o T2 27
(d) G=4 U= W dHS To9 TH & faw AR (a) G 1 FeA =i
GET( (b) s1eA%, fom s
78. fufauew i st (Principles of Biology) TH® (¢) o T
AT T | fwe Sia S ¢ wetea o g (d) W% W T Aee
freg"" (Survival of the fittest) FF T TIH TEal 87, f=fafed O 9 $HE €€ #7 MHaRT & 27
s fr (a) Whemifo (WEATif)
(a) =eH Bifed (b) SRR =% a9 (b) e
(c) THe TR (@) foe <f (¢) HraPrfos
79. UHF T ATUER HWEO S F A FAN ® ) fefopaz
fere fet ot 1 =prem oy fauffea 1 €2 88. WM o5 Wiew H ok Siee oo
(a) 14 o (b) 10 = (a) e (b) TS
(c) 18 = (d) 12 = fo) = () Tafwea®
80. WEQ SR WAHH WHT § ROw, Hifded 1 sfere el W Wk Her 9N wEY g
(a) Tofers =1 =& (b) TSHIAS =Rk (a) =i At (b) ST
(c) =f® =T &  (d) WIS =T % (¢) siqtelm W= () oo
81. Wit WUsE WHfed T HGHH ¢ 90, W el WfESH, AT 9 T S T
(a) Tzdfa & wfadh, (b)) TEEE & wfa .. ® iEg S €
(¢) T A % U Wd) IvF w9 % ufa (a) IFrm (b) AfHerTg
82. UHT THIRUNE AA&H U510 | &1 Hasml safa He (c) 3TFY WRET (d) %
TRl 7 91. Trefafea & 9 faa 9 %1 W AR W™
(2) ®aa 7 fawew g e 27
(b) el Th fermhed (a) HEETT (b) Tasirs
(c) W S ael TS W TH A fohed (c) #wum=ed weo1  (d) Foqu
(d) v fompeq e Rl T g & 92. "The future of India : Politics, Economics and
. " S s 2 e e B Government” T THH % @F HiT ©7
(a) TY1 FA ¥ Ted H G () VT 0 T I
(b) W =1 TEE = (c) ST =L (. St =y
M PP SPURE T NN Dy 93, Tl # fovg Twue 1 M ferEmt wt gt °f-
(a) wa® T (b) TSIIfa® T
(dy v= foavmfaer Tam wer &1 fo s
84. 'TEW A T WiIA' wl ‘wk wHr' w AW few ad (8) TRy ST (@) TR 3%
B o 6 B 94, UE T WH NAREEH T T
(a) 1954 (b) 1964 (a) 2 (b) =R
(c) 1974 (d) 1984 (¢) @ (d) oA
% "B /A BE /A
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95. Who built Panama Canal ?
(a) Fredinend Megallan (b) Ferdinend-de-lacepse
(d) Edward Lutins

96. Who among the following is associated with Indian

(¢) Lee Korbusear

civilization ?
(a) Sir Besant Smith (b) D. D. Goswami
(¢) Sir Alexandar Wingham
(d) Martemer Camphell

97. Who was known as 'Little Corporal' ?
(a) AdolfHitler (b) Napoleon Bonaparte
(¢) WilliamGladstone (d) Sunil Gavaskar

98. Arrange in proper chronological order—

1. Harshavardhan 2. Samudragupta
3. Chandragupta Maurya

4.  Rajendra Chola

(a) 3,1,2, 4 (b) 3,2, 1,4

(c) 2,3, 4,1 (d) 2,3, 1,4

99 Which country was the runner up in World Cup
Hockey at New Delhi in March 2010 ?

(a) Australia (b) Germany
(¢) Netherlands (d) England

100. Harappa 1s located on the bank of whieh of the
following rivers ?

(a) Ganga (b) Ravi
(¢) Yamuna (d) Indus
PART-C

NUMERICAL APTITUDE

Directions (51 - 53) 1 What will come in place of question
mark (?) in the following questions?

101. /576 + (4% x 74 + (7)® - 231=7

105. (0.064) x (0.4)7 = (0.4)" x (0.0256)%
{ay 17 (b) 2
{c) 18 (d) 3

106. A man sold an item for ¥ 6,750- at a loss of 25%.
What will be the selling price of same item if he sells
it at a profit of 15%?
(ay ¥ 10,530 (by 9,950
{¢) ¥ 10,350 (dy ¥ 11,340

107. The sum of the circumference of a circle and the
perimeter of a rectangle is 132 cms. The area of the

rectangle is 112 sq. cms. and breadth of the rectangle
1s 8 cms. What 1s the area of the circle?

{a) 616 sq. cm. (b) 540 sq. cm.
{c) 396 sq. cm. (d) Cannot be determined

108. The length of the diagonal BD)¥of the parallelogram
ABCD is 18 cm. If P.oand Q are the centroid of the
AABC and AADETespectively thenthe length of the
line segment PQ is
{a3s 4 em
{c) 9 cm

(b) 6 cm
(d) 12 cm

109: 1f'a ehord of a circle of radius 5 cm 1s a tangent to a
circle of radius 3 ¢m, both the circles being
concentric, then the length of the chord is

{a) 10 cm (b) 12.5 cm
{c) 8 cm (d) 7 cm

110. Thirty five percent of 740 is 34 more than a number.
What is two-fifth of the number?

{ay 45 (b) 90
{c) 180 (d) 120
111. The ratio between the angles of a quadrilateral is 6 : 3

(a) 123.9 (b) 121.1 24 : 5 The smallest angle of a triangle is one-fourth
(c) 111.4 (d) 123.1 the largest angle of the quadrilateral. Largest angle of
5 the triangle 1s 10° more than second largest angle of
102. (\/5_2) =7-12-36 the triangle. What 1s the second largest angle of the
triangle?
(a) 13-2.3 ) 13 L
{a)y 80° (b) 60°
(C) 13 — 4\@ (d) 1 (C) 70°© (d) 40°
- Y.
103. 98 = 14 x 49 — 294 = (7) 112, A train covered a distance of 1235 kms. in 19 hours.
() — 14 b)) 7 Also, the average speeq of a car 1s fOl..lr—flfth the
L7 41 196 average speed of the train. How much distance will
) 3 5 ) 5 R the car cover in 22 hours?
10 42 % B il % Oy led e B=Ag) (a) 1234 kms (b) 1144 kms
a) S b) 6 ' '
@ () {c) 1134 kms. (d) 1244 kms.
(¢) 3 (d) 8
% "I ANR /A
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95, TAMT eY THEE T E? 105. (0.064) x (0.4) = (0.4)" * (0.0256)*
(a) WfETs Heem (b)) WS S oRrm (a) 17 (b) 2
(c) 18 @ 3
SICa IRz d) T=as Tfew
) N ¥ \%7 106. Ud 3l 1 25% ©1¢ § U a%g T 6,750 W ¥
%0 al e afe ge gl g% Pl 15% oM & @Rl d9d dl
(a) W aw= fo (b) < = meEn su@ figa awa @ gl ?
(¢) W ToET=R fEem(d) W AR Hoha (a) T 10,530 (b) T 9,950
97. 'Little Corporal ? % | ¥ s GiEg o2 (¢) ¥ 10,350 (d) T 11,340
(a) wElew feeem (b) e SR 107. U g1 &I ORI 3R U gd &I uRfer &1 am
(o) fifm WeRR  (d) e TEER 132 ¥ "1 €| 37 B &b 112 9. 9. 1. 8 3R
5% o Y SEDT dSTg 8 H. AL T I DT B FATE ?
(a) 616 4. 3. HI. (b) 540 @. 9. HI.
1. zuEEA 2. WEIA
. . = (c) 396 4. 3. #I.
> I 45 (@) feffa =& foear o adars
ekl G 5 bt 108, T WU FgHT ABCI fawdl BD &1 &= 18
) 285 G 22 1.4 ¥t 31 7 P REQ P W AABC 7 AADC
99. wH 2010 ¥ 7% feeeht o Amfoa fowa %9 el % D= @l POReT BUe H1 o fhad g
wiqEitTa | foe 397 1 30 T A geT? @% B () 6 i
(a) aefer (b) ST (&) o um (d) 12 9
(c) reTeiosH (d) Tweivs 100, 5 9Hl. 5= e T a9 1 S, 3 9, e =
100. g5v01 o 7 & fri o feora 22 W?’Wqﬁﬁ%l aRLER (G I g
(2) T (b Wﬂﬂ@z,ﬁwsﬁmﬁaﬁsﬁmﬂﬁﬂ?
! (a) 10 (b) 125
d) f&
(c) T (d) ¢ o & B ly 7 8
- C 110. 740 &1 Gl Ul 1 e <R 4 34 @1fdeb 2| g9
AR ATt HE $1 & 9e1 9ig fdhan & ?
A (51-55): gy GGy GPE() @ (a) 43 I
I T S P (d) 120 a%wa%gﬁ(;)sﬂﬁﬁaﬁs‘ﬁ .
= v 3 aaie 111. U Aol B STUTT 6:3:4:5% |
101. (\57123(? 74+ (T) (b)231121?1 @ | S P hal dorS ollifl
(o) i @ n— BT BT P - AeTg o | KD BT TGt 91 Bl
TS I TG T BT A 10° 31eH | GBI &1
102. (VB-2)° =7- 1236 X HIH ST DIV HAT § P
(2) 13—-273 (b) 13 (a) 80° (b)y 607
(&) T8—45 @ 1 (c) 70° (d) 40°
103. 98 + 14 x 49 — 294 = (72 112, U g1 1 19 °¢ ¥ 1235 [l &1 g3 a9 &1 ub
@) — 14 ) 7 HIR DI ST T G B 3 T P ARAC-UT=
(c) -7 (d) 196 ©| PR 22 U< # BT i o Bl ?
104. (2 x 3% + (4 x 9)2 x (27 x 8) = (6)7 (a) 1234 foel (b) 1144 faHT
(a) 5 (b) © (¢) 1134 fary (d) 1244 forft
(c) 3 (d) 8
% "B /A BE /A
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114.

115.

116.

117.

118.

119.

120.

The side AB of a parallelogram ABCD is produced to
E in such way that BE = AB, DE intersects BC at Q.
The point Q divides BC in the ratio

(a) 1:2 (b) 1:1

(¢) 2:3 (d)y 2:1

O 1sthe incentre of AABC and <A = 30°, then LBOC
is

(a) 100° (b) 105°

(c) 110° (d) 90°

The ratio between the present ages of Meera and Priva
is 3 : 4 respectively. Ten years ago the ratio between
their ages was 4 : 7 respectively. What will
be Meera’s age after 5 years?

(b) 24 years
(d) 29 years
The average marks of nine students in a group 1s 63.

Three of them scored 78, 69 and 48 marks. What are
the average marks of remaining six students?

(a) 18 years
(¢) 23 years

(a) 63.5 (b) 64
(c) 63 (d) 62
Twelve percent of Kaushal’s monthly salary is equal

to sixteen percent of Nandini’s monthly salafy.
Suresh’s monthly salary is half that of Nandini's
monthly salary. If Suresh’s annual salary 1s T41.08
lacs. What is Kaushal’s monthly salary?

(a) ¥ 20,000 (by < 18,000

(c) ¥ 26,000 (d) ¥ 24,000

Six boysior four men can.complete a piece of work in
24 days. In how many days will 3 boys and 10 men
together complete the same piece of work?

(a) 6 (b) 8

(c) 12 (d) Cannot be determined
The angles of a quadrilateral are in the ratioof 2: 4 : 7
: 5. The smallest angle of the quadrilateral is equal to
the smallest angle of a triangle. One of the angles of
the triangle 1s twice the smallest angle of the triangle.
What is the second largest angle of the triangle?

(a) BO° (b) 60°
(¢) 120° (d) Cannot be determined
A shopkeeper sells notebooks at the rate of ¥ 45 each

and earns a commission of 4%. He also sells pencil
box at the rate of ¥ 80 each and earns a commission
of 20%. How much amount of commission will he
earn in two weeks if he sells 10 notebooks and 6 pencil
boxes a day?
(a) ¥ 1,956
(c) T 1,496

() T 1,586
(d) T 1,59

E

121.

122,

123.

124

125.

126.

L2

Wi N LW N

Train-A crosses a stationary Train-B in 50 seconds
and a pole in 20 seconds with the same speed. The
length of the Train-A is 240 meters. What is the length
of the stationary Train-B ?

{a) 360 meters (b) 260 meters

{c) 300 meters (d) Cannot be determined
One files a kite with a thread 150 metre long. If the
thread of the kite makes an angle of 60° with the
horizontal line, then the height of the kite from the
ground (assuming the thread to be in a straight line)
is

{a) 50 metre (b) 753 metre

(¢) 2543 metre (d) 80 metre
$in?5° + sin?10° + sin?15° + ....... + $in%85° + sin%90°
1s equal to

1 1
(a) 75 (b) 85

(c)o S (d) 9%

In a test, minimum passing percentage for girls and
boysis 35% and 40% respectively. A boy scored 483
marks and failed by 117 marks. What are the minimum
passing marks for girls?

{ay 425 (b) 520
{c) 500 (d) 525
8 men can complete a piece of work in 20 days. 8

women can complete the same work in 32 days. In
how many days will 5 men and 8 women together
complete the same work?

{a) 16 days (b) 12 days

{c) l4days (d) 10 days

The area of a square is 1024 sq. cms. What is the
respective ratio between the length and the breadth of
a rectangle whose length is twice the side of the square
and breadth is 12 cms. less than the side of the square?

{a) 5:18 b) 16:7
{(c) 14:5 (d)y 16:5
The value of
(sin? 1° + sin? 3° + sin% 5° + ... + sin2 85° + sin?
87° + sin? 89°) is
1
(a) 215 (b) 22
@ 221 @ 23+
i 2
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114.

115.

116.

117.

118.

115,

120.

T FHIER TGS ABCD &1 T& 1 AB ! E 0% 36
TE FMA 9 € % BE = AB®I S| 99 DE 97 af%
BC &I QW el &, @ Qfag BC y=1 =1 foa
s o fawfsa e Sm?

{a) 1:2 by 1:1
{(c) 2:3 (d)y 2:1
O fag B AABC &1 370 % € 310 ZA =30° 2|

TEAFR ~BOC Tamm zmm?

(a) 100° (b) 105°
(c) 110° (d) 90°
AT iR U &1 acare oy & d|9 w9 T s

3:4 %110 99 yd IAH! A B @ BT AUR
BH T4 75 g gra HIR1 $I sy g wii?
(a) 18 agf (b) 24 agf

(c) 23 agf (d) 29 Tef

U g | A e & siaa sie 63 € g W
T 7 78.69 3N 48 3fh U ¥ | Wiw vy fqemfefat
@ 3T i T § ?

(a) 63.5 (b) 64

(c) 63 (d) 62

DI & AP AT B 12% wifasdt & 7 dad
B 16% ® G 2 | Gue &l AfiH da el b
A1 de @1 3eT © 1 G 1 Bl d1fefd g3 1,

08 ATE & T I Bl ATRTD e =T & 0

(a) ¥ 20,000 YR 18,000

(¢) T 26,000 (d). T024,000

UE dsd I AN [REUEH B4 24 a7 4 g %
Thd 5| 3 @D 3y 10 gl e fhae fas o
Y81 P g1 B ?

(a) 6 (b) 8

(c) 12 (dy Trerffea =i foam S aaman

U AT B BT 2 04075 D U T
ITHS B TG BIST BV T [OHHA & TG Bl
HI0T B T ¢ | fIpiF &1 T Hior 90 a3 B
B0 BT AT & | KB & I T4 T3 BHI0
feper € 7

(a) 80° (b) 60°
(c) 120° (dy Treffa =2t e s aawman
Ueh PR T 45 7 Up Bl @) ¥ Alcgd deodl &

3R 4% HHIEE HAT © 1 98 T 80 H UH ol X U
e afer ot g © 31N 20% HHIYE B |

121.

122

123,

124

125

126.

127.

TH-A U R OB &1 50 Udhs ¥ 3R Th T Bl
ST T T 20 Wbs § UR BNl B | OT-A BT dAdTg
240 H1ex €| R ¢H-B & ofdE I 8 ?

(a) 360 Hiex (b) 260 e
(¢) 300 Hier (@) e = fasar s aawa
HE 150 H2 T4 4 % W T S F| A T 5

| ST T W 60° T IO S A A7 Y T
i HE (e °H w1 T am @eft T H @) ©

(a) 50 T (b) 7543 HR
(¢) 2543 Hrex (d) 80 Hr=
sin25° + sin%10° + sin?15° + ... + 5in?85° + sin290°
fope s BIm?
1 1

(a) 75 (b) 85

9 N Y
(c) (d) 2

U URET H dofhaie 3R dshi & forg uiRir
TlcL T sBTer 35% 3fiR 40% B | U ofsd Dl 483
S el Sl a8 117 3l & bl 8311 & | ersibdl
@ ferg =g wiRiT sid fhaw € 2

(a) 425 (b) 520
(¢) 500 (d) 525
8 Jel U B 20 a1 o 01 T Ah © | AR B

8 Afgany 32 fad o g1 ®x el €1 7€ B S
Ul IR 8 AT fAads fhe fas 7 qz1 a3t ?

(a) 16 fa= (by 12 fa=
(c) 14 fa= (dy 10 fa
Th T Bl &Amd 1024 T 9. f £ TP 3maa B

ddrd 3k @reld & 9 1 bR U |l g,
ST darg @3 oF {oi ¥ AT AR 9IS a7 3
oM A 1298 #l a9 8 ?

(a) 5:18 (b) 16 :7

(c) 14:5 (d) 16:5

(sin? 1° + sin? 3° + sin? 50 + ....... + sin2 85° + sin?
87° + sin? 89°) ®1 AW THa TEm?

1
Qe ¥ 98 10 Hiegd 3R 6 URrel afea daar @ 213 (&) 22
g ol g8 @l 1 Bl el afr e ?
(a) T 1,956 (b) T 1,586 ©) 22% @ 23%
(c) T 1,49 @ T 1,59

d W2 N LW N

INSTITUTE
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128.

129

130.

151.

132.

133,

134,

The numerical value of

cot 18°| cot 72° cos? 22° + ————— | &
tan 72° sec” 687

(a) 1 B) 2
(c) 3 (d) Nl
The sum of five consecutive even numbers of set-A

1s 220. What is the sum of a different set of five
consecutive numbers whose second lowest number
15 37 less than double of the lowest number of set-A?

(a) 223 (b) 225
(c) 235 (d) 220
The bus fare for one person is ¥ 420 from Agra to

Aligarh and train fare between the same places for
one person is equal to three-fourth the bus fare for
two persons between the same places. What is the
total fare paid by 2 persons travelling by bus and 4
persons travelling by train between the two places?

(a) ¥3.360 (b) ¥ 3,460
(¢c) T 3,440 (dy ¥ 3,406
The respective ratio between thesspeeds ‘ofta car, a
jeep and a tractor is 3 : 5 : 2-The'speed of the jeep is
250 percent the speed of the tractor which covers

360 kms in 12 hoﬁrs._ What is the average speed of
car and jésp together?

(a) 60 km/hr. (b) 75 km/hr.
(¢) 40 km/hr. (d) Cannot be determined
The total area of a circle and a square is equal to 5450

sq.cm. The diameter of the circle is 70 cms. What is
the sum of the circumference of the circle and the
perimeter of the square?

(a) 360 cms (b) 380 cms.
(¢) 270 cms. (d) Cannot be determined
The ratio between the speed of a train and a car is 16

. 15 respectively. Also, a bus covered a distance of
480 kms. in 8 hours. The speed of the bus is three-
fourth the speed of the train. How much distance
will the car cover in 6 hours?

(a) 450 kms. (b) 480 kms.
(¢) 360 kms. (d) Cannot be determined
Ram’s present age is three times his son’s present age

and two-fifth of his father’s present age. The average
of the present ages of all of them 1s 46 years. What 1s

Y

S A

Pt

135.

136.

137.

138,

the difference between the Ram’s son’s present age
and Ram’s father’s present age?

(b) 88 years

(d) 78 years

The circumference of a circle 1s 10 em. The side of

{a) 68 years
{c) 58 years

a square inscribed in the circle 1s

10042 504/2

cm by ——¢

@) — b) —

100
{c) e cm (d) 502 cm
A shopkeeper marks his goods 30% above his cost
price but allows a discount of 10% at he time of sale.
Hie gain is
(ay 21% (b) 20%
(c) 18% (d) 17%
Twenty percent of Anuy@s annual salaty 1s equal to

seventy five pereent of Raj’s annual salary. Raj’s
monthly salaryus 60% of Ravi’s monthly salary. I
Raviiglannual salary is® 1.44 lacs. What 1s Anuj’s
monthly salary?

(a) ¥ 2,970,000 (b) ¥ 27,000

(c)< 3,24,000 (dy ¥ 5,400

The largest and the second largest angles of a triangle
are in the ratio of 3 : 2 respectively. The smallest angle
is 20% of the sum of the largest and the second largest
angles. What 1s the sum of the smallest and the second
largest angles?
(ay 80°

(c) 100°

(b) 60°
(d) 90°

Directions (139-143) : Study the following graph carefully

Number of people

Wi N LW N

to answer the questions that follow :
Number of Females and Males working in five
different Organizations

|:| Females . Males

3500
3000 4
2500 -
2000

1500

1000 1|
500 1

Organizations
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128.

128,

130.

131.

132.

cot18° [cot 72°cos? 22° + T

tan 72° sec2 68°

HETE® O fRa 82

(a) 1 ) V2

@ 7
Ac-A I AT Ui 9 @A BT A[T 220 | A
GHl e BId] @Il A Bl ded BId] Hel &
A ¥ 37 B ©°

(a) 223 (b) 225

(¢) 235 (d) 220
RT3l BT b Afod o1 a9 fheram 420
2 ik g=f wrdl & 419 usb afdd &l ¢ a1 b
sel widl © Il @ <l ufddal & 99 & fud @
dH-terng € 1 9 < wral @ 1= 990 9 9 R %
2 wferat &fiR o | AT B Ve 4 Afdkral g T
fepan ram s farar fodam & 2

(a) T 3,360 (b) T 3.460

(c) T 3.440 (d) T 3.406

STUT 3 1 5 : 2 TSl bl JIY, jgdey F TfT @l
250% ©, SlA2Ead 360 e Hl. Hax &t 2| B
v ST o W i T1fa &= € ?

(a) 360 fbHimer () 75 feHHer

(¢) 40 fpdA e  (d) FufRa Tt fd s e
T G 3R Th I3 BT Bl el 5450 TIHTR T |
g Bl A 70 QAL 81 g B uRE sk @i @

(c) 3

135.

136.

137.

138,

T D YA R IW & U B acdEe ey &
dra fopaen far & ?

(a) 68 T (b) 88 T

(c) 58 auf (d)y 78 af

W 99w AR 100 9 21 o9 % st wlie e
ceaicuic B sl B

a —miﬁﬁﬁr (b) 02 o

(c) %@ﬁr (d)y 502

T& THFGR S A HI I haqed § 30% Y
% T sifha Her 7 fobeg foaent & @A 10% 1 w2
a0l T TWH AT ¢

(a) 21% (b) 20%

(c) 18% (d). 47%

S @ aTffes I Hr R uier, 3 @ arffe
T B g U @ Tl € | ol B AT
daT (@ B Wil der e 60% € 1 )T b arfife
e 144 ARELE | 31ST Bl AR e e &7
(a) T 2,70:000 (b) T 27.000

(c)0 T 3,24,000 (d) T 54.00

SIIUTC 4L 3 0 2 B | {aY Biel BIvl, Had 99 3ilY
THY HIH I8 DIV B AN Bl 20% & | " Blc 3N
GHY Y IS DI bl g0 e & ?

(a) 80° (b) 60°

(c¢) 100° (d) 90°

frafer (139-143) : A favw W% &1 a9 € EgAA

&Y IEP dI€ A dlel Ul & 99 e |
uid eli—alelll Giedl H $ravd AfXenaii
AR gl &) Hean

uffer @1 9T e € 7 [] #fen [ we
(a) 360 &Y. (b) 380 &Y.
(¢) 270 HAT. (@) TefRe it fasar s A 3200
133. U ¢ 3R U BN &I 11 & 14 &7 orqura soer: 9000
16: 15 &1 3R U 99 1 480 [ &1 g8 8 € E 2500
A QR | g @) AT S ) & Se—edleng €1 % 2000
6 U o R fhat it a7 Bt ? E 15000
(a) 450 Tl (b) 480 fdb.HI. 1000 1
(¢) 360 Tl (@) TefRe it fasar s A 500 1
134, XM bl i SNy, S YA bl i Sy | 0] : : : ,
forl sy gws fUar &1 adArET sy &1 @ 9er A B c D v
ure 21 g1 il @l adarT Ry b sited 46 arf ST
% "B /A BE /A
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139.

140.

141.

142,

143.

144.

145.

The number of Males in the Organization D forms
what percent of the total number of Employees from
that Organization (rounded off to two digits after
decimal)

(@) 54.17 (b) 62.64

(c) 52.25 (d) 61.47

What is the total number of employees working in
Organization C and B together?

(a) 8950 (b) 9520

(¢) 8250 (d) 9250

What 1s the total number of Females from all the
Organizations togather ?

(a) 11540 (b) 11755

(c) 12440 (d) 10250

What is the respective ratio of the number of Females
to the number of Males from Organization A ?

(a) 11:38 b) 7:6

(¢) 8:11 (dy 6:7

Number of Females from Organization E forms
approximately what percent of the total number of
Employees from that Organization ?

(a) 58 (b) 60
(c) 52 (d) 62
Rita invested 25% more than Sunil. Sunil invested 30%

less than Abhinav who invested I.6000/-. What 18 the
respective ratio between thesamount that Rita invested
and the total amount invested by all*of them together?

(a) 35:104 (b} 13 29
(c) 101% 36 (d) 35:103
A man gets a;simple interest of ¥ 1, 000/- on a certain

principal at the rate of 5 p. ¢ p .a. in 4 vears. What
compound interest will the man get on twice the
principal in two years at the same rate?

(a) T 1,050 (b) T 1,005
(¢) T 11,025 (d) T 1025

E

146.

147.

143.

149

150.

Wi N LW N

The penimeter of a square is equal to twice the perimeter
of a rectangle of length 8 cms. and breadth 7 cms.
What is the circumference of a semicircle whose
diameter 1s equal to the side of the square?
{Rounded off to the two digits after decimal.)

{a) 38.57 cms. (b) 23.57 cms.
{c) 42.46 cms. (d) 4747 cms.

If the radius of a sphere is increased by 2 cm, its
surface area increases by 352 em?. The radius of the

sphere before increase was [Tﬂkﬁ n= 7}

{a) 3 cm (b) 4 cm
{c) 5 cm (d) 6 cm
The perimeter of a rhombus is 40%m. If the length

of one of its diagonals bed2,. cm, the length of the
other diagonal is

{a) 14 cm (b) 1% cm
{c), 46 cm (d) 12 em
‘Radha’s present age is three years less than twice her

age 12 vears ago. Also the respective ratio between
Raj’s present age and Radha’s present age is 4: 9.
What will be Raj’s age after 5 years?

(b) 7 vears
(d) 17 years

{a) 12years
{c) 21 years
The respective ratio between the speeds of a car, a
train and a bus is 5 : 9 : 4. The average speed of the

car, the bus and the train is 72 km /hr. together. What
is the average speed of the car and the train together?

{ay 82 km./hr. (b) 78 km./hr
{c) 84 km./hr. (d) Cannot be determined
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135,

140.

141.

142.

143.

144.

145.

WIGA D H B R ® [OU I &1 I M0
H B B I® Bl PHARAT BT [T BT B
ufe 1w ?

(@) 54.17 (b) 62.64

(c) 52.25 (d) 61.47

TG C AR B A fHeddR B FR B Al B
T T F9E ?

(a) 8950 (b) 9520

(c) 8250 (d) 9500

THI TATGAl § FAadR Afeastl & g A b

g7

(a) 11540 (b) 11750

(¢) 12440 (d) 10250

ST AH ARl HT T@IT B goel & g o
FH T ST TR 2

{a) 11:8 b) 7:6

{(c)y 8:11 (d)y 6:7

e E A Afednt ®f 9@ 39 96T & &@d
HHATNAT BT W& BT A e gfd 1§ ?
(a) 58 (b) 60

(c) 52 d) 62

I F A W 25% stfde e faan | gEie

AT | 30% v [Faw fhar S 26,000 #I
frder foban | Siar siiv g9 vl gt Basex [Magis)
g I & i e a8 T £ 2

(a) 35: 104 (B)A 18 20
(c) 101 %36 (d) 35 : 103
U AT I Qe Tlel U¥ S YL U 9 Bl & H

4 T § WrEmRer ST 6 T 1000 e € ST av wR

146,

147.

148.

149.

150.

U a3 a1 uf¥Ar, 8 HHlL darg eilv 7 €A1 disE
ATl 3R & URATT & G & axIax © | 9 3fefqa
B g T gHfl foraT =y a9l &1 ga Aol
& d)IER £ 7 (] qedd il g guiffa)

(a) 3857 &l (b) 23.57 &I

(c) 4246 A (d) 47.47 I

afg felt Mt #1 o o 2Tt w5t gfg &1 9w
SH TR dEmd o 352 Tl E 9fs @ Wt R

2

o5 i A B o | 5= i

7
(a) 3 TH (b) 4 Tt

(c) 5THt (d) 6 et

ol Tr=gss 1 Ui 403 ¥1 3 39 v ot
1 g 1299, 8, 9 5 T s ©

(a) 14 9. (b)Y 15 T,

(c) 16 T, (d) 1275

RIEL B AR 112 99 usdl Bl SHS Y
BIGITA R T gl B B | IS DI GAH Y
SR RN adiarT sy & 4= b 1 3iqurd
49 % 5 g 9@ ol Bl sy (e gl ?
(a) 12 e (b)y 7 T

(c) 21 Tef (d) 17 aef

U PR, U o 3R U 98 &) 1fa & dla 9 T
5:9: 4 @ U & | IR, 99 3% ¢ BT fAaras
sitad wfa 72 fHlseer 81 SR iR ¢ o1 Mt
asitad aify fopadt @ 2

. (a) 82 fdHi/ger by 78 [bHi/der
L AT St Bl il A e & (¢) safdsdimer  (d)feffa 98 e s waa
<ol fiyer ?
(a) T 1,050 (b) T 1,005
(c) T 11,025 (d) T 1025
% "B /A BE /A
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PART-D
ENLGLISH COMPREHENSION

Directions: In questions no. 131 to 153, some of the

151.

152.

153,

154,

155.

sentences have errors and some are correct. Find
out which part of a sentence has an error and
blacken the rectangle corresponding to the
appropriate letter (A, B, C). If a sentence is free
from errors, blacken the rectangle corresponding to
(d) in the Answer Sheet.

(a)
(b)
(c)
(d)
(a)
(b)
(c)
(d)
(a)
(b)
(c)
(d)
(a)
(c)
(a)
(c)

The retiring principal asked his old pupils
to take the interest in the school

after he has retired.

No error.

At present juncture

however, the supercomputer

would be a costly toy.

No error.

Troy was taken by Greeks

this formed the basis of a story

which has become famous.

No error.
Sixty miles (b)
(d)
(b)
(d)

are
a good distance. Nowgrror.
You must remember, me

to post this letter No, grror.

Directions: In @uestions no. 156 to 160, sentences are

156.

157.

158,

given with blanks to the filled in with an appropriate
word. Four alternatives are suggested for each
question. Choose the correct alternative out of the
four and indicate it by blackening the appropriate
rectangle in the Answer Sheet.

Gokhale’s patriotic speeches  people to dedicate
their lives to the nation.

(a) forced (b) inspired

(¢) 1nstigated (d) prompted

In his address teo the teachers, the Vice-
Chancellor _ certain measures being taken for im-

proving the quality of college education.

(a) declined (b) directed

(c) advised (d) highlighted

The problems that India's economic development faces
are .

(a) myopic
(¢) enormous

(b) dubious

(d) strong

1:58:

160.

In our zeal for progress we should not  the execu-
tive with more powers.

{a) avoid (b) arm

{c) give (d) enhance

Undoubtedly, English is the most _ spoken language

in the world today.

{a) elaborately (b) greatly

{c) widely (d) broadly

Directions: In questions no. 161 to 1685, out of the four

161,

162.

163.

164.

165.

alternatives, choose the one which best expresses the
meaning of the given word and mark it in the
Answer Sheet.

PERSUADE

{a) assure (b) opinionated
{c) convince (d) cheat
FORTIFY

{a) topple (b) destroy

{c) reproduce (d) strengthen
PHENOMENAL

{a¥h ineidental (b) eventful

{c). natural (d) extraordinary
PARADIGM

{a) solution (b) model

{c¢) discovery (d) 1nvention
HONORARY

{a) honest (b) dignified
{¢) unpaid (d) praiseworthy

Directions: In gquestion no. 166 to 170, out of the four

166.

167.

168.

169.

170.

Wi N LW N

alternatives, choose the word opposite in meaning
to the given word and mark it in the Answer Sheet.

CELIBATE

{a) reprobate (b) prodigal
{c¢) profligate (d) married
OBSOLETE

{a) rare (b) useless
{c) recent (d) conducive
MAGNANIMOUS

{a) small (b) generous
{c) naive (d) selfish
EVACUATE

{a) admit (b) emerge
{¢) abandon (d) 1nvade
SANGUINE

{a) bloody (b) thin

(c) happy (d) gloomy
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Directions: In gquestions no. 171 to 175, four alterna-

171.

172.

173.

174.

175.

tives are given for the meaning of the given Idiom/
phrase. Choose the alternative which best expresses
the meaning of the Indian/Phrase and mark in the
Answer Sheet.

Dog in the manger
{a) A person who 1s not liked by others
{(b) A person who is hounders

{c¢) A person who puts himself in a difficulty on ac-
count of other people

{d) A person who prevents others from enjoying
something useless to himself

1 saw him make a wry face.
(b) feel sick
(d) show disappointment

{a) abuse

{c) cry with pain
Stick to one s guns
{a) Maintain one’s stand under attack
(b) Suspect something

{c) Make something fail

{d) Be satisfied

To cut the crackle

{a) to stop talking and start

{(b) to dig a well

{¢) to annoy others

{d) to act in a ffiendly ‘way

To miss the boat

{a) to miss ‘an, opportunity

(b) to feel lonely

{c) to act like a coward

(d) to swim in a river

Directions: In questions no. 176 to 180, a sentence or

176.

underlined part thereof is given which may need
improvement. Alternatives are given at (a), (b) and
(c) below, which may be a better option. In case no
improvement is needed, your answer is (d). Darken
the appropriate rectangle in the Answer Sheet.

In fact, if it hadn't been for his invaluable advice on

so many occasions I wouldn't have achieved anything
in life.

{a) remarkable advice

{b) wvaluable advices

{c) priceless suggestion

{(d) No improvement

3

177. But in all these cases conversion from scale have well-

178,

179,

180.

formulated.

(a) can be well-formulated
(b) are well-formulated
(¢) well-formulated

(d) No improvement

There 1s dearth of woman doctor in our state. We
shall have to recruit some from the other states.

(a)
(b)
(¢)
(d)

If you cross the line you will be disqualified.

women doctor
woman doctors
women doctors

No improvement

(a) cross upon the line

(b) cross on the line

(¢) cross out the ling

(d) No improvement

He shouldlmeve on to the next point, and not harp

ong sting only:

(a) tharp om string only

(b). harp only one string

(¢) harp upon one string only

(d) No improvement

Directions: In questions no. 181 to 185, out of four

181.

182,

183.

184,

185.

 W. N LW, N

alternatives, choose the onte which can be substituted,
for the given words/sentence and indicate it by

blackening the appropriate rectangle in the Answer

Sheet.

A massive moving entity
(a) miasma {(b) juggernaut
(¢) jamboree {d) typhoon
A happening that cannot be altered
{(b) fate

{d) congruence

(a) 1nvincible

(¢) fait-accomph

A person with good artistic taste

(a) gourmet {(b) gourmand
(¢) connoisseur (d) judge

A flirting woman

(a) wvirago {(b) shrew

(¢) martinet {d) coquette
Forcefully enlisting private property for military use
(a) occupation {(b) commandeering

(c) trespass {d) encroachment
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Directions: In question no. 186 to 190, groups of four 191. (a) procedure (b) process
words are given. In each group, one word is correctly (¢) portion (d) blend
spelt. Fi_nd the correctly spelt word and mark your 192, (a) drifted ) fizzled
answer in the Answer Sheet. _ _
{c) contrived (d) arisen
186. (a) Velnerable (b) Vulnarable L _
193. {a) painting (b) construction
(¢) Vulnerable (d) Valnerable _ .
_ {¢) decoration (d) repaining
187. (a) Simpal (b) Bannar o
194. {a) fatiguing (b) strenuous
(c) Pattren (d) Modern _
_ _ {c) encouraging (d) wvast
188. (a) Scripher (b) Scripture _ _ .
_ _ 195. {a) satisfaction (b) facility
(¢) Skripture (d) Scriptur _ o
_ _ {c) infrastructure (d) amenities
189. (a) Comitte (b) Commitee . . .
_ - 196. (a) practically (b) ideologically
(¢) Committee (d) Comiittee _ o
o _ {c) aesthetically (d) principally
190. (a) Friming (b) Burnning e _
_ 197. {(a) Considering (b) Having
(¢) Running (d) Fryng _ :
) ) {c) Assuming (d) Despite
Directions: In the following passage (question no. 191 198 o a\ ¥
to 200), some of the words have been left out. First - Xg] varasion (@
read the passage over and try to understand what is (¢) lethargy (d) spurt
about. Then fill in the blanks with the help of the 199. (a) escalating (b) "modest
alternatives given. M ark your answer in the Answer (e unpredictable (d) negligible
Sheet. 2Q0: {a)\ ambitien (b) appearance
PASSAGE(Q. Nos.191-200) {c) expectation (d) experience

Architecture 1s unique ...(191)... of art.afid science
that has ...(192)... out of man'sprimary need for
shelter. It 1s concermned with, the design and'..(193)...
of buildings 1n their saeiological) technological and
environmental context, This field/is not only ...(194)...
but alsogprovides the . {195)... of designing and
building pleasing . [¢196)... refined structures to serve
various needs. ... (197)... the fairly large number of
practising architects, the countrywide ...(198)... in
building activity offers scope for more. And though
the initial earnings in the field are relatively ...(199)...
what you make thereafter will depend entirely on your
. (200)..

v WA N LWL N




